#### FCC FORM 1240 UPDATING MAXIMUM PERMITTED RATES FOR REGULATED CABLE SERVICES

Cable Operator:				
Name of Cable Operator				
Cablevision of Wappinger Falls, Inc Village of Fishkill			-	
Mailing Address of Cable Operator				
38 Old Rt 9 City	State	ZIP Code		
Wappinger Falls	NY	12590		
	I	YES	NO	
1. Does this filing involve a single franchise authority and a single co	mmunity unit?	X		
If yes, complete the franchise authority information below				
and enter the associated CUID number here:	NY 0273			
		YES	NO	1
2. Does this filing involve a single franchise authority but multiple co		X		
If yes, enter the associated CUIDs below and complete the franchise	e authority information a	it the bottom of this pa	ige:	
2 Dass this films involve multiple from this such suffice 9				
3. Does this filing involve multiple franchise authorities? No				
If yes, attach a separate sheet for each franchise authority and including its associated CUID(s):	de the following franchis	se authority information	on with	
Franchise Authority Information:				
Name of Local Franchising Authority				
New York Public Service Commission - Cable Television Burea	u			
Mailing Address of Local Franchising Authority				
Corning Tower Building - Empire State Plaza City	State	ZIP Code		
Albany	NY	12223		
Telephone number	Fax Number	1225		
(518) 474-4992	(518) 486-57	27		
4. For what purpose is this Form 1240 being filed? Please put an "X	" in the appropriate be	DX.		
a. Original Form 1240 for Basic Tier			X	
b. Amended Form 1240 for Basic Tier				
c. Original Form 1240 for CPS Tier				
d. Amended Form 1240 for CPS Tier				
			то	
5. Indicate the one year time period for which you are setting rates (	the Projected Period).	06/01/09	05/31/10	(mm/yy)
			TO	
6. Indicate the time period for which you are performing a true-up.		12/01/07	11/30/08	(mm/yy)
7. Status of Previous Filing of FCC Form 1240 (enter an "x" in the a	ppropriate box)			
a. Is this the first FCC Form 1240 filed in any jurisdiction?		YES	NO	
b. Has an FCC Form 1240 been filed previously with the FCC?			X	
If yes, enter the da	ate of the most recent fil	ing: [	(mm/dd/yy)	
		YES	NO	
c. Has an FCC Form 1240 been filed previously with the Franchising Aut	hority?	X		
If yes, enter the d	ate of the most recent fil	ing: 03/01/08	(mm/dd/yy)	

Federal Communications Commission Washington, DC 20554

#### 8. Status of Previous Filing of FCC Form 1210 (enter an "x" in the appropriate box)

8. Status of Previous Filing of FCC Form 1210 (enter an "x" in the appropriate box)	YES	NO
a. Has an FCC Form 1210 been previously filed with the FCC?	X	
If yes, enter the date of the most recent filing:	05/25/95	(mm/dd/yy)
	YES	NO
b. Has an FCC Form 1210 been previously filed with the Franchising Authority?	X	
If yes, enter the date of the most recent filing:	04/05/00	(mm/dd/yy)
9. Status of FCC Form 1200 Filing (enter an "x" in the appropriate box)		
a. Has an FCC Form 1200 been previously filed with the FCC?	YES X	NO
If yes, enter the date filed:	08/15/94	(mm/dd/yy)
	YES	NO
b. Has an FCC Form 1200 been previously filed with the Franchising Authority?	X	
If yes, enter the date filed:	02/17/95	(mm/dd/yy)
10. Cable Programming Services Complaint Status (enter an "x" in the appropriate box)		
	YES	NO
a. Is this form being filed in response to an FCC Form 329 complaint?		X
If yes, enter the date of the complaint:		(mm/dd/yy)
	YES	NO
11. Is FCC Form 1205 Being Included With This Filing	X	
12. Selection of "Going Forward" Channel Addition Methodology (enter an "x" in the appropr	iate box)	
Check here if you are using the original rules [MARKUP METHOD].		
X Check here if you are using the new, alternative rules [CAPS METHOD].		
If using the CAPS METHOD, have you elected to revise recovery for	YES	NO
channels added during the period May 15, 1994 to Dec. 31, 1994?		X

#### 13. Headend Upgrade Methodology

\*NOTE: Operators must certify to the Commission their eligibility to use this upgrade methodology and attach an equipment list and depreciation schedule.

Check here if you are a qualifying small system using the streamlined headend upgrade methodology.

## **Part I: Preliminary Information**

Module A: Maximum Permitted Rate From Previous Filing
---

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
A1	Current Maximum Permitted Rate	\$10.8422				
	Module B: S	Subscribership (	See Attachr	nent 1)		
Line		a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
B1	Average Subscribership For True-Up Period 1	758				
В2	Average Subscribership For True-Up Period 2					
B3	Estimated Average Subscribership For Projected Period	757				

### **Module C: Inflation Information**

Line	Line Description		
C1	Unclaimed Inflation: Operator Switching From 1210 To 1240	2. A start of the start of t	1.0000
C2	Unclaimed Inflation: Unregulated Operator Responding to Rate Complaint		1.0000
C3	Inflation Factor For True-Up Period 1 [Wks 1]		1.0279
C4	Inflation Factor For True-Up Period 2 [Wks 1]		
C5	Current FCC Inflation Factor		1.0392

٦

### Module D: Calculating the Base Rate

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
D1	Current Headend Upgrade Segment					
D2	Current External Costs Segment	\$0.9274				
D3	Current Caps Method Segment					
D4	Current Markup Method Segment	\$0.0300				
D5	Current Channel Movement and Deletion Segment					
D6	Current True-Up Segment	\$0.0591				
D7	Current Inflation Segment	\$0.1005				
D8	Base Rate [A1-D1-D2-D3-D4-D5-D6-D7]	\$9.7253				

### **Part II: True-Up Period** Module E: Timing Information

Line	Line Description	 
E1	What Type of True-Up Is Being Performed? (Answer "1", "2", or "3". See Instructions for a description of these types.)	2
	If "1", go to Module I. If "2", answer E2 and E3. If "3", answer E2, E3, E4, and E5.	
E2	Number of Months in the True-Up Period 1	12
E3	Number of Months between the end of True-Up Period 1 and the end of the most recent Projected Period	6
E4	Number of Months in True-Up Period 2 Eligible for Interest	0
E5	Number of Months True-Up Period 2 Ineligible for Interest	0

### Module F: Maximum Permitted Rate For True-Up Period 1

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
F1	Caps Method Segment For True-Up Period 1 [Wks 2]	\$0.0000				
F2	Markup Method Segment For True-Up Period 1 [Wks 3]	\$0.1300				
F3	Chan Mvmnt Deletn Segment For True-Up Period 1 [Wks' 4/5]	\$0.00				
F4	True-Up Period 1 Rate Eligible For Inflation [D8+F1+F2+F3]	\$9.8553				
F5	Inflation Segment for True-Up Period 1 [(F4*C3)-F4]	\$0.2745				
F6	Headend Upgrade Segment For True-Up Period 1 [Wks 6]					
F7	External Costs Segment For True-Up Period 1 [Wks 7]	\$1.0073				
F8	True-Up Segment For True-Up Period 1	\$0.0594				
F9	Max Perm Rate for True-Up Period 1 [F4+F5+F6+F7+F8]	\$11.1964				

### Module G: Maximum Permitted Rate For True-Up Period 2

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
Gl	Caps Method Segment For True-Up Period 2 [Wks 2]					
G2	Markup Method Segment For True-Up Period 2 [Wks 3]					
G3	Chan Mvmnt Deletn Segment For True-Up Period 2 [Wks' 4/5]					
G4	TU Period 2 Rate Eligible For Inflation [D8+F5+G1+G2+G3]					
G5	Inflation Segment for True-Up Period 2 [(G4*C4)-G4]					
G6	Headend Upgrade Segment For True-Up Period 2 [Wks 6]					
G7	External Costs Segment For True-Up Period 2 [Wks 7]					
G8	True-Up Segment For True-Up Period 2					
G9	Max Perm Rate for True-Up Period 2 [G4+G5+G6+G7+G8]					

### Module H: True-Up Adjustment Calculation

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
	stment For True-Up Period 1					
H1	Revenue From Period 1	\$101,023.23				
H2	Revenue From Max Permitted Rate for Period 1	\$101,809.072				
Н3	True-Up Period 1 Adjustment [H2-H1]	\$785.842				
H4	Interest on Period 1 Adjustment	\$90.8937				
Adju	stment For True-Up Period 2					
H5	Revenue From Period 2 Eligible for Interest					
H6	Revenue From Max Perm Rate for Period 2 Eligible For Interest					
H7	Period 2 Adjustment Eligible For Interest [H6-H5]					
H8	Interest on Period 2 Adjustment (See instructions for formula)					
H9	Revenue From Period 2 Ineligible for Interest					
H10	Revenue From Max Perm Rate for Period 2 Ineligible for Interest					
H11	Period 2 Adjustment Ineligible For Interest [H10-H9]					
Tota	I True-Up Adjustment					
H12	Previous Remaining True-Up Adjustment					
H13	Total True-Up Adjustment [H3+H4+H7+H8+H11+H12]	\$876.7357				
H14	Amount of True-Up Claimed For This Projected Period	\$876.7357				
H15	Remaining True-Up Adjustment [H13-H14]	\$0.0000				

### **Part III: Projected Period** Module I: New Maximum Permitted Rate

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
I1	Caps Method Segment For Projected Period [Wks 2]	\$0.0000				
12	Markup Method Segment For Projected Period [Wks 3]	\$0.1400				
13	Chan Mvmnt Deletn Segment For Projected Period [Wks 4/5]	\$0.00				
I4	Proj. Period Rate Eligible For Inflation [D8+F5+G5+I1+I2+I3]	\$10.1397				
15	Inflation Segment for Projected Period [(I4*C5)-I4]	\$0.3975				
16	Headend Upgrade Segment For Projected Period [Wks 6]					
17	External Costs Segment For Projected Period [Wks 7]	\$1.0534				
18	True-Up Segment For Projected Period	\$0.0966				
19	Max Permitted Rate for Projected Period [I4+15+I6+I7+I8]	\$11.6871				
I10	Operator Selected Rate For Projected Period	\$11.6871				

Note: The maximum permitted rate figures do not take into account any refund liability you may have. If you have previously been ordered by the Commission or your local franchising authority to make refunds, you are not relieved of your obligation to make such refunds even if the permitted rate is higher than the contested rate or your current rate.

#### **Certification Statement**

WILLFUL FALSE STATEMENTS MADE ON THIS FORM ARE PUNISHABLE BY FINE AND/OR IMPRISONMENT (U.S. CODE TITLE 18. SECTION 1001). AND/OR FORFEITURE (U.S. CODE. TITLE 47. SECTION 503). I certify that the statements made in this form are true and correct to the best of mv knowledge and belief, and are made in good faith. Signature

Jan man	2/15/05
Name and Title of Person Completing this Form:	Joseph Massa - Vice President of Regulatory Compliance
Telephone number	Fax Number

# Worksheet 1 - True-Up Period Inflation

For instructions, see Appendix A of Instructions For FCC Form 1240

Line	Period	FCC Inflation Factor
101	Month 1	2.45%
102	Month 2	2.68%
103	Month 3	2.68%
104	Month 4	2.68%
105	Month 5	1.11%
106	Month 6	1.11%
107	Month 7	1.11%
108	Month 8	3.92%
109	Month 9	3.92%
110	Month 10	3.92%
111	Month 11	3.92%
112	Month 12	3.92%
113	Average Inflation Factor for True-Up Period 1	1.0279
114	Month 13	
115	Month 14	
116	Month 15	
117	Month 16	
118	Month 17	
119	Month 18	
120	Month 19	
121	Month 20	
122	Month 21	
123	Month 22	
124	Month 23	
125	Month 24	
126	Average Inflation Factor for True-Up Period 2	

## Worksheet 3 - Markup Method True-Up Period, Basic Tier

For instructions, see Appendix A of Instructions For FCC Form 1240

							True-Up Period	Projected Peri
Question	n 1. Indicate the p	eriod for which this w	orksheet is being use	ed. (Put an "X'	in the appropriate	e box.)	X	
Question	n 2. Indicate the ti	er for which this work	sheet is being used.	(Put an "X" in	the appropriate bo	ox.)		
			I	Basic	Tier 2	Tier 3	Tier 4	Tier 5
				X				
					L	L	·L	·
		he first period, in mon		-				12
Question	n 4. How long is ti	he second period, in m	ionths, for which rat	es are being se	t with this worksh	eet?		0
		1	2	3	4	5	6	7
			~ ~ ~ ~ ~ ~					
Line	Period	Sum of Previous Regulated Channels	Sum of Current Regulated Channel	Average Channels	Per Channel Adjustment	Channels Added	Total Adjustment	Cumulative Adjustmen
301	Previous Month							\$0.03
302	Month 1	22	31	77.0	\$0.01	9	\$0.09	\$0.12
303	Month 2	31	31	84.0	\$0.01		\$0.00	\$0.12
304	Month 3	31	31	84.0	\$0.01		\$0.00	\$0.12
305	Month 4	31	31	84.0	\$0.01		\$0.00	\$0.12
306	Month 5	31	31	84.0	\$0.01		\$0.00	\$0.12
307	Month 6	31	32	83.5	\$0.01	1	\$0.01	\$0.13
308	Month 7	32	32	83.0	\$0.01		\$0.00	\$0.13
309	Month 8	32	33	83.5	\$0.01	1	\$0.01	\$0.14
310	Month 9	33	33	84.0	\$0.01		\$0.00	\$0.14
311	Month 10	33	33	84.0	\$0.01		\$0.00	\$0.14
312	Month 11	33	33	84.0	\$0.01		\$0.00	\$0.14
313	Month 12	33	33	84.0	\$0.01		\$0.00	\$0.14
314	Average Peri	od 1 Markup Method	l Adjustment					\$0.1300
315	Month 13				·			
316	Month 14							
317	Month 15					<u>_</u>		
318	Month 16							
319	Month 17							
320	Month 18							
321	Month 19							
322	Month 20							
323	Month 21							
324	Month 22							
25	Month 23		Í				f	
26	Month 24							
27	Average Peri	od 2 Markup Method	Adjustment		nder villegenden in dies Augenste Stellen die State Augenste Stellen die State Augenste			

0

## Worksheet 3 - Markup Method **Projected Period, Basic Tier**

For instructions, see Appendix A of Instructions For FCC Form 1240

		True-Up Period	Projected Period
appropriate box.) X	appropriate box.)		x

Question 1. Indicate the period for which this worksheet is being used. (Put an "X" in the appropriate box.)
Question 2. Indicate the tier for which this worksheet is being used. (Put an "X" in the appropriate box.)

Basic	Tier 2	Tier 3	Tier 4	Tier 5
x				
re heing set	with this workshee	t?		12

Question 3. How long is the first period, in months, for which rates are being set with this worksheet? Question 4. How long is the second period, in months, for which rates are being set with this worksheet?

		1	2	3	4	5	6	7
Line	Period	Sum of Previous Regulated Channels	Sum of Current Regulated Channel	Average Channels	Per Channel Adjustment	Channels Added	Total Adjustment	Cumulative Adjustment
301	Previous Month		en ar mar en an			an a		\$0.14
302	Month 1	33	33	84.0	\$0.01		\$0.00	\$0.14
303	Month 2	33	33	84.0	\$0.01		\$0.00	\$0.14
304	Month 3	33	33	84.0	\$0.01		\$0.00	\$0.14
305	Month 4	33	33	84.0	\$0.01		\$0.00	\$0.14
306	Month 5	33	33	84.0	\$0.01		\$0.00	\$0.14
307	Month 6	33	33	84.0	\$0.01		\$0.00	\$0.14
308	Month 7	33	33	84.0	\$0.01		\$0.00	\$0.14
309	Month 8	33	33	84.0	\$0.01		\$0.00	\$0.14
310	Month 9	33	33	84.0	\$0.01		\$0.00	\$0.14
311	Month 10	33	33	84.0	\$0.01		\$0.00	\$0.14
312	Month 11	33	33	84.0	\$0.01		\$0.00	\$0.14
313	Month 12	33	33	84.0	\$0.01		\$0.00	\$0.14
314	Average Per	iod 1 Markup Metho	od Adjustment					\$0.1400

#### TABLE A.

### NON-EXTERNAL COST ADJUSTMENT FOR CHANGES IN CHANNELS

Average Cl	nannels	Adjustment
From:	To:	per channel
7	7	\$0.52
7.5	7.5	\$0.45
8 8.5	8	\$0.40
8.5	8.5	\$0.36
9	9	\$0.33
9.5	9.5	\$0.29
10	10	\$0.27
10.5	10.5	\$0.24
11	11	\$0.22
11.5	11.5	\$0.20
12	12	\$0.19
12.5	12.5	\$0.17
13	13	\$0.16
13.5	13.5	\$0.15
14	14	\$0.14
14.5	14.5	\$0.13
15	15.5	\$0.12
16	16	\$0.11
16.5	17	\$0.10
17.5	18	\$0.09
18.5	19	\$0.08
19.5	21.5	\$0.07
22	23.5	\$0.06
24	26	\$0.05
26.5	29.5	\$0.04
30	35.5	\$0.03
36	46	\$0.02
46.5	99	\$0.01

# Worksheet 7 - External Costs True-Up Period

For instructions, see Appendix A of Instructions For FCC Form 1240

					True-Up Period	Projected Period
Question 1. Fo	or which time period are you filling out th	X				
Question 2. H	Iow long is the first period, in months, for		12			
	low long is the second period, in months, f					0
					<u>,</u>	
		<u>a</u>	b	c	a	e
T 2	<b>.</b>	Dacia	Tior 2	Tior 3	Tior A	Tier 5
Line	Line Description	Basic	Tier 2 Period 1	Tier 3	Tier 4	Tier 5

701	Cost of Programming For Channels Added Prior to 5/15/94 or After 5/15/94 Using Markup Method For Period	\$363.18			
702	Retransmission Consent Fees For Period				
703	Copyright Fees For Period	\$1,503.39			
704	External Costs Eligible For 7.5% Markup	\$1,866.57			
705	Marked Up External Costs	\$2,006.5641			
Exte	rnal Costs Not Eligible for Markup			-	
706	Cable Specific Taxes For Period				
707	Franchise Related Costs For Period	\$7,153.22			
708	Commission Regulatory Fees For Period				
709	Total External Costs For Period	\$9,159.7841			
710	Monthly, Per-Subscriber External Costs For Period	\$1.0073			

		P	eriod 2		
Ëxte	ernal Costs Eligible for Markup				
711	Cost of Programming For Channels Added Prior to 5/15/94 or After 5/15/94 Using Markup Method For Period				
712	Retransmission Consent Fees For Period				
713	Copyright Fees For Period				
714	External Costs Eligible For 7.5% Markup				
715	Marked Up External Costs				
Exte	ernal Costs Not Eligible for Markup				
716	Cable Specific Taxes For Period				
717	Franchise Related Costs For Period				
718	Commission Regulatory Fees For Period				
719	Total External Costs For Period			 	
720	Monthly, Per-Subscriber External Costs For Period 2				

Г

e

## Worksheet 7 - External Costs Projected Period

For instructions, see Appendix A of Instructions For FCC Form 1240

	True-Up Period	Projected Period
Question 1. For which time period are you filling out this worksheet? [Put an "X" in the appropriate box.]		Х
Question 2. How long is the first period, in months, for which rates are being set with this worksheet?		12
Question 3. How long is the second period, in months, for which rates are being set with this worksheet?		0

π

C

đ

я

Line	The Development	Basic	Tier 2	Tier 3	Tier 4	Tier 5
Line	Line Description		eriod 1			
Exte	rnal Costs Eligible for Markup					
701	Cost of Programming For Channels Added Prior to 5/15/94 or After 5/15/94 Using Markup Method For Period	\$541.62				
702	Retransmission Consent Fees For Period				-	
703	Copyright Fees For Period	\$1,503.34				
704	External Costs Eligible For 7.5% Markup	\$2,044.96				
705	Marked Up External Costs	\$2,198.3342				
Exte	rnal Costs Not Eligible for Markup					
706	Cable Specific Taxes For Period					
707	Franchise Related Costs For Period	\$7,366.30				
708	Commission Regulatory Fees For Period					
709	Total External Costs For Period	\$9,564.6342				
710	Monthly, Per-Subscriber External Costs For Period	\$1.0534				

12

0

## Worksheet 8 - True-Up Rate Charged (See Footnote 1)

For instructions, see Appendix A of Instructions For FCC Form 1240

Question 1. How long is the True-Up Period 1, in months? Question 2. How long is the True-Up Period 2, in months?

Line	Line Description	a Basic	b Tier 2	c Tier 3	d Tier 4	e Tier 5
801	Month 1	\$11.38				
802	Month 2	\$11.38				
803	Month 3	\$11.38				
804	Month 4	\$11.38				
805	Month 5	\$11.38				
806	Month 6	\$11.38				
807	Month 7	\$10.84				
808	Month 8	\$10.84				
809	Month 9	\$10.84				
810	Month 10	\$10.84				
811	Month 11	\$10.84				
812	Month 12	\$10.84				
813	Period 1 Average Rate	\$11.1100				
814	Month 13					
815	Month 14					
816	Month 15					
817	Month 16					
818	Month 17					
819	Month 18					
820	Month 19					
821	Month 20					
822	Month 21					
823	Month 22					
824	Month 23					
825	Month 24					

826

Period 2 Average Rate

### Attachment 1

# Form 1240 Supplemental Data Part I, Module B: Subscribership

	TRUE-UP PERIOD 1 (Actual Subscribers)												
	Dec-07	Jan-08	Feb-08	Mar-08	Apr-08	May-08	Jun-08	Jul-08	Aug-08	Sep-08	Oct-08	Nov-08	AVG
Basic	766	763	753	754	755	759	756	754	763	767	761	742	758
Tier 2													
Tier 3													
Tier 4													
Tier 5													

	PROJECTED PERIOD (Estimated Subscribers)												
	Jun-09	Jul-09	Aug-09	Sep-09	Oct-09	Nov-09	Dec-09	Jan-10	Feb-10	Mar-10	Apr-10	May-10	AVG
Basic	757	757	757	757	757	757	757	757	757	757	757	757	757
Tier 2													
Tier 3													
Tier 4													
Tier 5													

# Programming Costs Per Subscriber Per Month FCC Form 1240 Fishkill Village

		Basic			
		Subscribers	Effective Rate	Pro	ogramming
<u>Month</u>	Period				Cost
Dec-07	TU - 1	766	\$0.0133	\$	10.19
Jan-08	TU - 1	763	\$0.0133	\$	10.11
Feb-08	TU - 1	753	\$0.0133	\$	10.05
Mar-08	TU - 1	754	\$0.0134	\$	10.07
Apr-08	TU - 1	755	\$0.0134	\$	10.08
May-08	TU - 1	759	\$0.0586	\$	44.50
Jun-08	TU - 1	756	\$0.0589	\$	44.49
Jul-08	TU - 1	754	\$0.0592	\$	44.62
Aug-08	TU - 1	763	\$0.0588	\$	44.83
Sep-08	TU - 1	767	\$0.0584	\$	44.83
Oct-08	TU - 1	761	\$0.0587	\$	44.71
Nov-08	TU - 1	742	\$0.0602	\$	44.69
		Worksh	eet 7 Line 701 TU-	·1 \$	363.18
Jun-09	PP	757	\$0.0594	\$	44.95
Jul-09	PP	757	\$0.0594	\$	44.95
Aug-09	PP	757	\$0.0597	\$	45.17
Sep-09	PP	757	\$0.0597	\$	45.17
Oct-09	PP	757	\$0.0597	\$	45.17
Nov-09	$\mathbf{PP}$	757	\$0.0597	\$	45.17
Dec-09	PP	757	\$0.0597	\$	45.17
Jan-10	PP	757	\$0.0597	\$	45.17
Feb-10	PP	757	\$0.0597	\$	45.17
Mar-10	РР	757	\$0.0597	\$	45.17
Apr-10	PP	757	\$0.0597	\$	45.17
May-10	PP	757	\$0.0597	\$	45.17
		Worl	sheet 7 Line 701 P	P_\$	541.62

### Footnote: 1

The FCC Form 1240 instructions for Worksheet 8 Lines 801 through 812 state, "For each tier, enter the rate which was in effect for each month of True-up Period 1." They go on to state "The rate used should be the figure from your rate card at that time." In its regulated service tier rate on Worksheet 8, CSC has made adjustments to account for the following items:

1. Basic service tier --

- According to FCC Form 1240 instructions "The Maximum permitted rate figure calculated on form 1240 does not take into account any refund liability that you may have." In order to comply with this language in the instructions, CSC has removed from its rate card rate for the basic tier, any amounts refunded to subscribers (on a per subscriber per month basis).
- In addition, for those systems for which a FCC Form 1235 was filed, any basic service tier rate increases implemented based on the 1235 filing have been removed from the rate card rate.

## CABLEVISION SYSTEMS CORPORATION BASIC CHANNEL LINEUP Fishkill Village Dec-07

Channel #	Channel Name
2	WCBS New York (CBS)
3	WPXN New York (I)
4	WNBC New York (NBC)
5	WNYW New York (Fox)
6	WXTV Paterson (Univision)
7	WABC New York (ABC)
8	WNJN Montclair (PBS)
9	Му9
10	WTBY Poughkeepsie (IND)
11	CW 11
12	Home Shopping Njetwork
13	WNET New York (PBS)
14	Cablevision Channel Guide
15	W42AE New York (PBS)
16	WNJU Linden (Telemundo)
17	WFUT Newark (TeleFutura)
18	Cablevision News/Local Prog/Leased Access
19	WRNN Kingston (IND)
20	WMBC Newton (IND)
21	Public Access
22	Educational/Government Access
78	QVC
107	WABC Plus
108	Eyewitness News Now
109	WNBC Weather Plus
110	WNBC 4.4
116	NYS Legislative TV
131	Kids Thirteen
132	WLIW World
133	WLIW Create
199	V-ME

TOTAL BASIC CHANNELS

31

## CABLEVISION SYSTEMS CORPORATION BASIC CHANNEL LINEUP Fishkill Village

### 5/27/2008 and 6/16/2008 and 7/29/2008 and 11/30/2008

Channel #	Channel Name	
2	WCBS New York (CBS)	
3	WPXN New York (I)	
4	WNBC New York (NBC)	
5	WNYW New York (Fox)	
6	WXTV Paterson (Univision)	
7	WABC New York (ABC)	
8	WNJN Montclair (PBS)	
9	My9	
10	WTBY Poughkeepsie (IND)	
11	CW 11	
12	Home Shopping Njetwork	
13	WNET New York (PBS)	
14	Cablevision Channel Guide	
15	W42AE New York (PBS)	
16	WNJU Linden (Telemundo)	
17	WFUT Newark (TeleFutura)	
18	Cablevision News/Local Prog/Leased	Access
19	WRNN Kingston (IND)	
20	WMBC Newton (IND)	
21	Public Access	
22	Educational/Government Access	
77	CSPAN	Added 5/27
78	QVC	
107	WABC Plus	
108	Eyewitness News Now	
109	WNBC Weather Plus	
		Name change
110	Universal Sports	Previously WNBC 4.4
116	NYS Legislative TV	
131	Kids Thirteen	•
132	WLIW World	
133	WLIW Create	
198	LATV	Added 7/29
199	V-ME	

TOTAL BASIC CHANNELS

33

## CABLEVISION SYSTEMS CORPORATION BASIC CHANNEL LINEUP Fishkill Village 6/1/2009 and 5/31/2010

Channel #	Channel Name
2	WCBS New York (CBS)
3	WPXN New York (I)
4	WNBC New York (NBC)
5	WNYW New York (Fox)
6	WXTV Paterson (Univision)
7	WABC New York (ABC)
8	WNJN Montclair (PBS)
9	Му9
10	WTBY Poughkeepsie (IND)
11	CW 11
12	Home Shopping Njetwork
13	WNET New York (PBS)
14	Cablevision Channel Guide
15	W42AE New York (PBS)
16	WNJU Linden (Telemundo)
17	WFUT Newark (TeleFutura)
18	Cablevision News/Local Prog/Leased Access
19	WRNN Kingston (IND)
20	WMBC Newton (IND)
21	Public Access
22	Educational/Government Access
77	CSPAN
78	QVC
107	WABC Plus
108	Eyewitness News Now
109	WNBC Weather Plus
110	Universal Sports
116	NYS Legislative TV
131	Kids Thirteen
132	WLIW World
133	WLIW Create
198	LATV
199	V-ME

TOTAL BASIC CHANNELS

33